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(a) 128-bit Comparator Block

D[t] —={ 128bit Data Shift Register  f==p D[t-128AT]

K[t] -] 128bit Key Data Register = K[t-128AT]

[T ——— 1]

M[t] | 128bit Mask Data Register =M [t-128AT]

co= 1 only if M[i]=0 and D[i]=K[i] for all i’s ;
When b, is ON the block is in latch-state.

¢ = OR (EXNOR(d,k),m)

If m=0 and d=k, no passage to the ground,
inactive with ¢ pulled up to Vdd

ORI O &

RO | O =

If m=0 and if d is not k, c is pulled down,
active with a passage to the ground.

O ||l 3|

Lol K= N1 )

If m=1, no passage to the ground,
always inactive with ¢ pulled up to Vdd

(b) one -bit Comparator Element Block

et £ ol Compare

k d :j Output
k ) ==

vdd

V1 -
el K[i+1]

K[i]

vdd

— M[i+1]
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